Lesson 5.4 Extra Practice Answers

1. a) Quadrant 2 4a)x=3,y= —4,r=>5
b) Quadrant 4 byx=7y= —6V2,r=11
¢) Quadrant 2 x=12,y= —16,7r =20
d) Quadrant 3 d)x=10,y= -5 r=5V5
2.2)i) r =538 ; ; , &x=3V5y=-6r=9
ii)sin0=5.f8,c050=5f8,tan0=g f)x=2,y=—-V2L,r=5
b)i) r= 2.8 5.a) 0 = 51°, 309°

b) 6 = 74°, 254°

2
ii)sin @ = ——,cos 0 = —— tan 0 = 1 . R
2.8 2.8 c) 6 = 218° 322

i)r=706 d) 6 = 114°, 294°
ii) sin 0 = i, cos 0 = —L, tan 0 = 3 ¢) 0 =79° 281°
7.6 7.6 7 f) 6 = 191°, 349°
d)i)r=4.5
) r , 6.a) 6 = 139°, 221°
ii) sin 6 = —E, cos 0 = E, tan 0 = —Z b) 6 = 1240, 2360
9i)r=80 ' ©) 0 = 14° 166°
ii) sin @ = 0, cos § = —1,tan 6 = 0 d)0:39;2190
£)i) r =150 ¢) 0 = 199% 341
9 12 9 f) 6 = 58° 238°
ii) sm0=g, cos O = —E,tan0= T 7.2) 0 = 135°
3.a) sin 6 = 0.99, cos 6 = —0.12, b)z .
tan 0 = —8.14 c) 6 = 180°
1 d) 0 = 236
b) sin 6 = —0.87, cos 6 = > tan 0 = —1.73 e) 6 = 315°
c) sinf = 0.24, cos6 = —0.97, £) 6 =270
tan 0 = —0.25
d) sin 0 = —0.34, cos 6 = —0.94,
tan 0 = 0.36
e)sin 8 = 0.91, cos 6 = 0.41,
tan 6 = 2.25
f)sin 6 = —0.71, cos 6 = 0.71,
tan = —1

450 | Functions 11: Lesson 5.4 Extra Practice Answers

Copyright © 2008 by Thomson Nelson




